Interpolation, Interpolating Polynomials, Spline interpolation [1-6]
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2nd order Lagrange interpolation
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The Lagrange Cubic Interpolating Polynomial
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cubic splines
estimate the value at x=5.5. {(x=5.5)=?
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The second derivatives at the end knots are zero
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Same equation can be applied to the second interior point
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Cubic spline for first interval
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Cubic spline for second interval

£y (x) = 0.582276 (5 — x)* + 0.14177 (x — 4.5)* +1.854436 (5 — x) + 2.164558 (x — 4.5)




x=5.5 falls within the third interval




Inverse Quadratic Interpolation method:

First iteration:
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x.,, =—0.0067 +0.4931 +0.0807 = 0.5671
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